"l’
‘ U Bend TT Bar(Stem Mounted) Installation Instructions

s HA
BHBE ControltechEf - HHFBLREAPELBELRERAR - BRASKRPELESEMNENERBRTBRERER -
RE

tBEH#EControltechi2 M FERRE - HEEZFREBERFESNEFENBEER (URZHWE ) - EREREMAEREZLEREE - BRREFRESHEMEBEER -
Controltech(REI A BEHRZRRBRE ZEBE - A BSHBREEPEERFHEMAVIE - URBETHREMERSHAE - B0 RENE  BINHBRER LNEH  EFESERER - BRANEE
tAESERESEER -

EmaiE /Bl
U Bend TT Bar(Stem Mounted) / TTH-14-S

2HRE
A © UREIB T @ FsaR B
@ FR X2 @ AEEZRBEX]
@ﬁ%éa ® FHk x2 @ A T ERE
YRR @ G x2
SE ® LHERX]
® LERgR K]
@ EfigREx1
® B FEIEx

© M5 #4x4(10mm)(BIf ~ A FRIRA)
M52 #4x4(25mm) (R 1 FB)
@ M5B ##x4(16mm) (LR E R A)

LA
1. BEEINEENIEZER NS - ZE2ERER0E - EE2H
EHRB®-

2. KFRO@O@ A I (HEZRAHNESNmM) -
3. HO®O®OMEERIE L(IEBEK)(SHEZAHANESNM) -
4. BOEBOOOLERUE LB (EHE&ZAHRNESNm) -

@ = = UERE6mMMUAT)ER

® 57\ mEmEIs G L)

LLNTRTH

www.controltechbikes.com B/ [/, /4




y /
‘ U Bend TT Bar(Stem Mounted) Installation Instructions

Thank you for choosing this Controltech. With proper care and installation, it will give you trouble-free, enjoyable use. . By
In order to maximize the safe enjoyment of this product, you should read and carefully follow the following installation instructions and warnings. Failure to do so could result in unexpected wear and/or failure, possibly resulting
in injury.

Controltech warrants this product to be free from defects in materials and workmanship for a period of two years from the date of purchase when purchased from an authorized Controltech dealer. This warranty is extended only to
the original owner of the product and is not transferable. Proof of purchase is required for any warranty service, so be sure to keep your receipt.

This warranty does not cover cosmetic or structural damage arising from misuse or abuse, including damage caused by crashes, jumping and landing, front end impact, falls or any other collision, owner neglect of regular
maintenance, improper installation of parts and accessories. Controltech makes no warranty if modifications, changes, additions or substitutions are made to any components. Wear from normal use or exposure to environmental
elements is not covered by this warranty. Controltech makes no warranty against any incidental or consequential damage to bike or parts, or rider injury caused by defects as covered in this warranty.

Model name / Model no.
U Bend TT Bar(Stem Mounted) / TTH-14-S

Part

@ U-Bend extension x1 @ Square clamp pad Short x1
@ Elbow pad x2 @ Square clamp pad Tall x1
® Elbow pad cradle x2 @ Lower Square clamp x1

@ G Clamp x2

® Upper clamp x1

® Clamp pad Upper x1

@ Round clamp pad Lower x1

Round Lower clamp x1

® M5 bolts for round and square clamp x4(10mm)
M5 bolts for pad cradle x4(25mm)

@ M5 bolts for upper clamp x4(16mm)

Installation

1. Ensure the stem body is round or square type. Part@®for Round type and Part@ ®@
for square type.

2. Assemble U-Bend extension @ with Elbow pad @), Elbow pad cradle ®, G Clamp @,
and M5 bolts for pad cradle @ in sequence and tighten 4 M5 bolts (Max torque: 5SNm).

3. Assemble Upper clamp ®, Clamp pad Upper ®, Round clamp pad Lower @, Round
Lower clamp ®, M5 bolts for round clamp @, M5 bolts for upper clamp @), in sequence
and tighten bolts (Max torque: 5Nm)(Stem body is round).

4. Assemble Upper clamp ®, Clamp pad Upper ®, Square clamp pad Tall@),Lower Square clamp @),
M5 bolts for square clamp ®, M5 bolts for upper clamp @, in sequence and tighten
bolts (Max torque: 5Nm)(Stem body is square).

® @ Stem width less 36mm use
(1E) @ Stem width greater 36mm use (e mﬂ/r””l

www.controltechbikes.com . ./ £/, /]




	TTH-14-S-01
	TTH-14-S-02

